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Ty Kr UNUNY Y Ydep 0.48

3zln Q = 4.02x10° ci
]

LNTIZ9 1 0i = 1012 pCi
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Isotope Y:lndep Ydep X Q
(%) (%) (%) (pCi)
K830 . 0.48 | 0.8 | #.02x101°
gpSom 1.5 NS 1.5 1.26x101®
kxS’ £ 2.7 2.7 2.26x101©
KrS8 3.7 i 3.7 3.10x101°
xe133m | 0,16 6.5 6.66 | 5.58x101°
xe133 65 6:5, | 13,16 | 1.10x1017
0.16
xe135m | 2.9 6.0 8.1 6+79%101°
xe 132 05 ] 60, | Belk 2,63x1010
2.1
xe 138 el 5.8 5.8 4,86x1010
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X1A
: (h + F/vaL)Q\.2 + B/V,)
UMuRA N, = 2.50x10° B%% x 22095 n’

IINAUNNT (3.6.4) N, =

NS 04695

2.77%60 min]

xé _ _ 0.693
' 17.8 min®

F = 229.5 0 /min

Y. w7 2295 m

aln A = 1.99x10° pCi/min

-'&4 [ d a - o q' Y @
Uune  BaTanATUnou-88 ulvanaTugeanid,A LR LwARL
1.99x102 pCi/min

MNAUNIT (3.3.1) D = '2_£94x3-7x1010)(E)(4.6x40‘6)

» 2 100
o ' -3
damTunTunou-88 umumqr D = 5 rad 1 hr 10 “rad
- " hr 3600 sec <1 mrad

17 133n109nTiineu- 88
257\ 33ns0eg i fun- 88
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E = 1.401 MeV /dis
v
2zln | C, = 3.35x1072  Ci/cad
%3 =, 4 Cq4 = 3.35x10%  pci/m®
INTICQN NH = C,V
1Tw
vl 11
(7ol M, = 8.21x10 pCi
uaz X1mg = 3.42x10° pCi/min
INAUNIT (3.2.1) R = >\1M1 + A
. e %\ 9 -
mmumﬂﬂau-:aa wnup A M, = 3.42x10 pCi/min
A = 1.,99x107 pCi/min
y 9
¢ln R = 5.41x10 pCi/min
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dmiy kx832 %x 100 ' = 1.75x10™°  %/min

: » 5 S
umun Q = #.02x10"% poi

v - - g BTN
ln ge R = 7.04x10 pCi/min
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Isotope R
(pCi/min)
KrSom 72.04x108
KrSon 2.21x10°
xrS? 3.96x10°
KrSo 5.41x10°
xe135m 9.77x107
x¢133 4.93x101°
Xe125m 1.19x101°
Xe132 4,06x10°
xe138 8.51x10°
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FA04UNT (3.5.1) IR

A

= '|.99I':’|Og pCi/min

A
M = 8.21x1011  pei
" 0.00024

min
FINANNIT (4.2.3.1) (Xﬂ +K M = R

LNUAA

v
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e = 0.00024
min |
v
7zl (kﬂ +.9:9$9§ﬁ) M, = R covaalBiB 1Y
mn
o ]
guiy KxSo8 unuaa >\1 = _0.693
, 114 min
R = 7.04x10°  pCi/min
74 -
wln M = 1111077 poi

ez AM, = 6.77x10°  pCi/min
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a dq o ¥ - 4 a o~ Ye® iof
pnaiinnilayluwrnazanTannrtyneindaruialuule  Inuleaunas
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Isotope T,‘ /2 M"I >"1M1
(pCi) (pCi/min)
kr83® | 444 min | 1.21x10" | 6.77x108
ke | 4,36 hr | 7.65x1017 | 2.03x10°
kr®? | 78 min | 4.38x1077 | 3.86x10°
KrS8 2,77 hr | 8.21x10" | 3.42x10°
xe133m | 2,34 2.17x101% | 4.56x107
Xe12? | 5.27 4 5.85x1017 | 5.26x107
Xe12°® | 45 min | 2.56x1077 | 1.18x101°
%1% | 9.2nr | 3.07x10"% | 3.86x10°
%8 | 147 min | 2.08x10"" | 8.46x10°

=9
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IINAUNNT (3.2.1) R = >\,,M1 + A

- 7
3z ln

TN 3-3\1141 SO dS T
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IMNAUNIT (3.6.3) N, = A eee(5.5.1)

()\1 + F/va)

b ]
Ty KrS3m wupr A = 2.70xﬁo7 pCi/min
0.693
A1 e b

114 min
F = 229.5 n’/min
5
Va = 2295 m
win N, - 2.55x108 pCi

TuvwedtuatunTinou-83m 1rad urTomur ey unas
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v, = 229 n’
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Isotope A N, -giéa
(pCi/min) (pCi) (pCi/min)
350 2.70x107 2.55x10° 2.55x107
KrSon 1.80x108 1.75x107 1.75x108
KrS? 1.00x108 9.18x10° 9.18x107
KrS8 1.99x10? 1.91x107° | 1.91x10°
xe135m 5,21x10° 5.20x107° | 5.20x10°
Xe 193 1.40x101° 1.40x1011 1.40x101°
Xe 1591 1,00x108 6.84x10° 6.84x107
Xe 122 7. 40x10° 7.31%10° 7.31x10°
xe 158 5,00x107 3.55x10° 3.55%107




33

ar ¢ ¢
5.7 mIpwaulngLInaeeFidunuurzasnigunazain

da ¥
5.7.1 1lndLIvngaus

108un17(3.3.1) D ,.g_g§4x3.7xﬂo1°)(E)(1.sxno“s)

100
]
aanuTy Kr83m UnumA 01 = _l;‘l_ = 4.53x10'1OCi/cm3
: v
w
E = 0.617 MeV/dis

t 74
¥ln, D = 8.272x10°% rad/sec
! 2
LNT1s91 1 rad = 10 mrad

LRT ALY D, = 0.30 mrad/hr

TumuseifvafuaTineu- 83m 1109 ToMULING LTNTDY
- 4 ?V v l4. 4
Tedunuuazeanigypneiendsvale  Ingldgdunas (3.3.1)  avvmausaln
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Isotope £ € Dg
(MeV/dis) (Ci/cm?) (arad/hx)
KrSom 0.617 4.53x10~ 10 0430
KrSoR 0.276 3.12x10™) 0.92
xrS? 1.33 1.77x10"2 2.5
xrS8 1.401 3.35%10™2 5.00
Xe155m 0.046 8.86x10~8 4,34
Xe133 0.108 2.39x1077 27.48
Xe 1551 0.297 1.04x10™2 0.33
Xe13% 0.326 1.25x1078 4,35
Xe138 1,711 8.28x10~ 10 1451

3H. Bresser and W. Schwarzer, Containment and Siting
of Nuclear Power Plants (Vienna: IAEA, 1967)
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N4UNIT (3.7.1) p, = (T(0SHCE ; g og
R R T g T T R R T T e R e R
[ ]
dauTy KrSon unupr X = 22
T
¢ = M . 1110 70i/md
-3
&
B = 0,617 MeV/dis
v
el D = 0.04x10™* rad/nr
L oq
UunD Da = 0.004 mrad/hr

TuviuesifurdunTinou- 83m 1116 uATomINILIng LI nTaeT el
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Isotope E C Da
(MeV/dis) (Ci/m?) (mrad/nr)

KrSom 0.617 1.11x10~7 0.004
xrSom 0.276 2.63x10™7 0.013
xrS? 1.33 4.,00x10~7 0.033
KrS8 1,401 8.32x10°° 0.731
Xe 1550 0.046 2.26x1077 0.065
xe193 0.108 6+10x10™2 0.413
Xe 1500 0.297 2.98x10™7 0.005
Xe 132 0.326 3.18x10~° 0.065
xe128 14711 1.55x10~7 0.017
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